THE CURIOUS INCIDENT OF THE DOG IN THE NIGHT-TIME

THE JOURNEY – READING GUIDE 2
CHAPTER 197 (pp 196-202)
Read the chapter and answer the questions or follow the instructions:
1) Christopher is on the train. What doesn’t he like about it?

There are too many people, who are strangers, and he is stuck with them in a place he can’t get out of.

2) What story does that remind him of? Relate it briefly.

It reminds him of the time his mother had to do some carpooling on the way home from school, but because he didn’t really know the other children, he panicked and jumped out of the moving car. He ended up with stitches on his head.
3) Who has gotten on the train as well?

The policeman who helped him at the station.
4) Why is he “breathing really hard and holding his knees” (page196), in your opinion?

He must have run to catch up with Christopher.
5) What does he tell Christopher here?

He tells him that his father is at the police station.
6) What does Christopher think his father is at the police station for?

He thinks his father has been arrested for Wellington’s murder.
7) Why is he really there?

He must have filed a missing person report and is waiting for the police to find Christopher and bring him back to him.
8) What’s Christopher’s reaction to this news? What happens next?

Christopher panics because he’s afraid of his father. He tries to run away and the policeman grabs him, so he starts screaming.
9) Why does the policeman say “Shitting fuck” on page 198?

He says that because the train starts moving, which obviously wasn’t part of his plan.
10) What does he do next? What’s his name, by the way?

He calls his colleagues to ask them to send a car to the next station so that they can drive him and Christopher back to the police station. His name is Nigel, by the way.
11) What do Christopher and the policeman do next?

They sit facing each other so that the policeman can keep an eye on Christopher, who’s obviously a flight risk.
12) Why does Christopher solve math equations in his head here (p 199)?

Christopher is looking outside the window, but all the information he gets from doing that hurts his brain, so he focuses on math equations to try to calm his nerves.
13) What is the problem, after a little while? What happens to Christopher?

Christopher needs to pee, but he doesn’t know there are toilets on trains so he tries to hold it in but fails and wets himself.
14) What does the policeman do then?

The policeman notices that and sends him to the bathroom.
15) What opportunity does that afford Christopher?

After getting out of the bathroom, Christopher hides in the luggage compartment. Indeed, it’s a small confined space and people can’t see him, and that makes him feel calmer and better.
16) What’s the consequence? Who’s where, at the end of the chapter?

The policeman starts looking for him, in the bathroom and on the platform, where he is when the train starts moving again. So Christopher is on the train but the policeman isn’t.
